[image: image1.png]


3rd Junior High School Of Ilion, Greece
Measurement of water-alcohol-oil density
1.Measure the mass of a volumetric cylinder by  using a scale and write  

    down the mass of the empty  cylinder
  MASS OF THE EMPTY CYLINDER:………..150gr…………
2.Fill in the volumetric cylinder with 50ml of water  and complete in 

   the next table the accurate volume of the water added.

3.After that, measure the mass of the water added and complete 

 in the next table the mass of the water.

   MASS OF THE  CYLINDER+WATER=………..199gr…

   MASS OF THE WATER=………….199gr-150gr=49gr

4.Repeat the above three-step procedure by adding this time 

   50 ml  of  alcohol and complete the follow table:

  MASS  OF THE EMPTY CYLINDER:…….148gr………….

  MASS  OF THE CYLINDER+ALCOHOL=……..189gr…….

  MASS OF THE ALCOHOL=……….189gr-148gr=41gr..
5.Repeat the above three-step procedure by adding this time  

   50 ml of oil and  complete the follow table:

   MASS OF THE EMPTY CYLINDER:………147gr…..

   MASS OF THE CYLINDER+OIL=…….192gr……………

   MASS  OF OIL= ………192gr-147gr=45gr…………
6.Measure the density (with precision  of one decimal) of the   

    three liquids and complete the last column of the table

	S/N of measurements
	Mass (m) in g
(without decimal)
	Volume  (V) in cm3
(without decimal)
	density (d) = Mass/Volume (g/cm3)

(with precision of one decimal)

	 1     (water)
	49
	50
	1,0

	    2 (alcohol)
	41
	50
	0,8

	3    (oil)
	45
	50
	0,9


7.Put in an order , from the highest to the lowest the three densities

…………………………..d1>d2>d3…………………………..

8.Consequently , 

   Alcohol has the lowest density of the three liquids

   Water has  the highest density of the three liquids

If the oil and the water are placed carefully in the same volumetric cylinder (without being mixed) the ….oil … will float 

If the oil and the water are placed carefully in the same volumetric cylinder(without  being mixed) the …alcohol… will float

9. In a clear volumetric cylinder put carefully in an order of descending density the three liquids .

Write down the right liquid in the empty boxes of the following volumetric cylinder as resulting from your remarks.
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Efstathiou  Petros, Msc    

